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Time Allowed: 15 Minutes ~ SECTION-A  Marks:- 12
Q-1 Write the correct option i.e. A, B, C or D in the empty

box provided opposite to each part.

! Which one is the best heat conductor?
(A) Copper (B) Wood (C) Plastic (D) None | A

il.  The relation between coefficient of linear and volume
expansion Is .
(A) y=2a B) =3¢ (O y=da (D) None

lii.  Anticlock wise tor que IS taken
(A) Negative (B) Positive (C) Parallel (D) ﬁj‘ @

iv.  The unit of stress is g@@
O i A
320 Fis

\

@) 0°C (B 3°C () 100°C (D) 3050(7

vi. A girl just support a mass 33kg suspended from a rope.

What is the resultant force acting on the mass’
(A) 40N (B)ON  (C)2UN (D) 200N |_A
vil.  The prefix micro means a factor of

@ 10° ® 1 (0] 108 m*) 10+6 ﬂ
vill. A machined i ahle to lift 2(0kg of bricks vertically up

to a height of Jﬂm abmc the grounc in 50 S. What is the power
of the machine? (Take g =10 ms’

200W (B) 60000W 30@‘@N@W(‘“
ix.  Barometer is used OW gl
(A) Density (B\N@N €7 Normal (D) Atmospheric] B |

ressure - pressure - pressure

X, The centripetal acceleration = .
(A) vzlr (B) v (C) Wr2 (D) M:r2 Z]
M. The length of the ectual path followed by a body durig

Its motion is called
(A) Position (B) displacement (C) Distance (D) A& B| B

xil,  The \alm, of gravitational constant "G" in Sl unitis .

667x10 (B) 9.8 85 (D) Nonme | A

N Kﬂr2 ms 2 ms'2
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Note- Time allowed for Section-B and Section-C is 2 Hours

and 43 Minutes. |
SECTION-B Marks: 32

Q- Answerany EIGHT parts. Each part carries equal
marks. _

1. Distinguish betwgen ,',;bl,asf,e-”a_n'd? &.._esm-'é& physical
quantities? . "Whah

2 4 [lcﬁne véctor and scalar quantities

3,07 What is centripetal force? Give three examples of a

motion in a circle.

§,  How you would determine the centre of gravity m

irregular shape body?

State and explalg @@mﬁf Universal

Gravition. WW
6. A bullet'of mass 30 g travels at a speed of 15000 meter

per second, Calculate its Kinetic Energy.

7. State and explain Pascal's Principle.

8, What is the difference between force of gravity and
force of gravitation?

9, Why does land cool at a slower or faster rate than sea
water? Explain briefly.

0. How much encray is generated when Ig of mass is

completely converted into energy”

(1. How heat losses are reduced in a thermos flask?

SECTION-C  Marks: 21 @m
Note:- Attempt any two questions. @qu%ﬂ@ﬁ@

marks.

Q-IIT (a) \N{]ﬁw “Alsn deseribe advantages and

disadvantages of friction.

(b) A truck moving at a speed of 20 ms-J begins to
slow at constant rate of 3 ms-2, ;ﬁqd: hmv{wt,goes before

stopping. AY
\, JV ( ) : '7lain the rectangular components of 2
vector, with the help of example. ,

(b) ~ The mass of earth s 6 x 1024 kg, Using
newton's Law of universal Gravition, Find the radius of Earth.

O-VI (a)  Explain radiation of heai..Descr.ibe any three

of its applications.

(b)  How much heat is required to increase the

tefnperature of 0.5kg of water from 10°C t0 65°C?



